DAVPUBLICSCHOOLSECLKORBA
Summer Vacation Homework, 2024-

25CLASS-VI
English

1. Make a Tense Chart with sentence structures and at least two examples of all forms of

Tenses in a full size chart paper. Students are advised to do the project work as
follows:

RolINo1to15-Present Tense,

Roll No — 16 to 30 -
PastTense

RollINo—-31to last—Future
Tense

2. Take an interview of your grandparents and write the dialogues in your English
Subject Enrichment Note Book.(Refer to English Reader BookChapter-1)

3. Write at least 20 Regular and Irregular verbs with their Past and Past Participle forms
in your English Subject Enrichment Note Book.

Do as per the example given below

Present Past PastParticiple
Regular play played Played
Irregular do did done
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Mathematics

I TIVSLISTY

Arrange the following in descending order.

1-
(a) 14676, 16746, 12431, 16752
(b) 23066, 20366, 23064, 24063, 23067
(c) 10895, 18095, 10995, 19708, 19803
2. Fill in the Blanks.
(a) 1 million S lakh
(b) 10 million C crore
(c) 1 million S eeeemens thousand
(d) 139 x =0
(e) 27 x 18 =27 x 10 + 27 x
() 1395+ 1 =
3. Solve the following word problems.
(a) A milk dairy produced 75,678 litres of milk in a day. It supplied 67,689 litres of milk to milk depot. Find the milk left
in the dairy.
(b) The total population of a city is 28,73,468. If the number of males is 16,43,728 and number of females is
10,43,726, find the number of children in the city.
(c) By how much is 68,72,526 less than a crore ?
(d) In order to make a shirt, a length of 2 m 20 cm cloth is needed. How much length of the cloth will be required for 21
such shirts ?
(e) Find the product of largest three digit number with smallest four digit number.
4. Muttiple Choice Questions.
(a) The greatest five digit number formed with the digits 7, 5, 3 and 2 is
(i) 75523
(ii) 77523
(iii) 77532
(iv) 77253
(b) The number formed by interchanging the digits 6 and 2 in 465271 is
(i) 462571

(i) 425671



(c)

(d)

(e)

®

(9)

(@)
(b)
(c)
()

(iii) 452671
(iv) none
The smallest natural number is
(i)0
(ii) 1
(iii) 2
(iv) none
The smallest whole number is
()0
(i) 1
(iii) 2
(iv) 10
Smallest odd prime is
(i) 1
(ii) 2
(iii) O

(iv)3
Successor of the largest three digit number is
(i) 100
(ii) 1000
(iii) 9999
(iv) 999
Which of the following gives the quotient as a natural number ?
()08
(i) 18 = 1
(iii)1+2
(iv) 10 =20

Put the comrect sign <,> or = in the box.

469,.... . 409
3059, ... 5039

7089,..... 1023
10090, ...... 10009



6. State whether the following statements are True or False.

(a) The whole number 0 has a predecessor.

(b) The successor of a two digit number is always a two digit number
(c) There are 5 whole numbers lying between 15 and 20.

(d) All whole numbers are natural numbers.

7. Solve the following.

(@) 7+953 +6437

(b) 667 + 770 + 333

(c) 558 + 3937 + 442 + 3063

(d) 186 + 278 + 314 + 422

(e) 1983 + 647 + 217 + 353

Activity: Using match sticks write the roman numbers from 1 to 10

and numbers 50, 100, 500 and 1000.

SST

1. Draw the diagram titled "The heat zones" (page no. 23) on an A4 SIZE PLAIN SHEET and
paste it in your GEOGRAPHY NOTEBOOK.

2. Label and colour any ten countries on a political map of the world and paste it in your
HISTORY NOTEBOOK.

*Art integrated project*

Roll No. 1 to 10 - Model showing the different layers of atmosphere.

Roll No. 11 to 20 - Model showing the different physical features (landforms) of India.
Roll No. 21 to 30 - Model of Solar system.

Roll No. 31 to 40 - Model of different phases of moon.

Roll No. 41 and above - Chart showing different types of celestial

bodies.

SCIENCE

1. Adopt a plant near you and take care of that. Record the observations.

2. Prepare a jute/paper bag and decorate it with biodegradable materials.

3. Draw a diagram to show the relationship between biotic and abiotic components in a A4
size -paper.

4. Prepare a chart of Vitamin, it's sources and functions.

5. Complete your science copy

EARIEE



(1) T 3t geal & 39 o feT=at wm @ 2

3O G317 il Bl U ferRgeps 9argu |

(2) HRA &I DS 10 Mo TG oAl | Siet S arelt TS &t Pt 18T | (A-4 IS TR H)

(3)2 Ul g (SrufSarTeiz) forfeg |

(4) UGTT 7Y UTaT 1-"Aeft g1 FemT "2- "fagl & S1eR " I WFR SR 3N IR &1 fafed TRighd & |



